

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/4/2025 10:26:22 AM

			General De	etails				
Parcel ID:	405-0010-01	540						
Document:	Abstract - 01	Abstract - 01466574						
Document Date:	10/13/2020							
		Le	gal Description	on Details				
Plat Name:	KELSEY							
Sect	ion 7	ownship	F	Range	Lo	t	Block	
9		54		18	-		-	
Description:	SE 1/4 OF \$	SE 1/4						
			Taxpayer D	etails				
Taxpayer Name	JOHNSON J	EFFREY & BRE	NDA					
and Address:	8929 ARKO	_A RD						
	KELSEY MN	55755						
			Owner De	tails				
Owner Name	JOHNSON E	BRENDA J						
Owner Name		EFFREY JAMES	8					
		Paya	able 2025 Tax	c Summary				
	2025 - N				\$281.00)		
	2025 0	pecial Assessme	onte					
	2023 - 3	pecial Assessme	ents			\$85.00		
	2025 -	Total Tax &	al Tax & Special Assessments \$366.00					
		Currer	nt Tax Due (a	s of 5/3/2025	i)			
	Due May 15		Due Octo	ber 15		Total Due	•	
2025 - 1st Half	Tax \$183.0	0 2025 - 2	nd Half Tax	\$18	33.00 2025 -	1st Half Tax Due	\$0.00	
2025 - 1st Half	Tax Paid \$183.0	2025 - 2	nd Half Tax Paid	¢15	33.00 2025 -	2nd Half Tax Due	\$0.00	
2023 - 131 1141			2025 - 2nd Half Tax Paid \$183.00					
2025 - 1st Half	f Due \$0.0	2025 - 2	nd Half Due	:	60.00 2025 -	Total Due	\$0.00	
			Parcel De	tails				
Property Addres	ss: 8929 ARKO	A RD, KELSEY	MN					
School District:	2142							
Tax Increment D								
Property/Homes	steader: JOHNSON,							
	Hemesterd		ssessment Details (2025 Payable 2026)			Def Distr.	Not Tour	
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
201	1 - Owner Homestead (100.00% total)	\$28,500	\$44,200	\$72,700	\$0	\$0	-	
	0 - Non Homestead	\$25,300	\$0	\$25,300	\$0	\$0	-	
111	Total:	\$53,800	\$44,200	\$98,000	\$0	\$0	689	



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Land Details									
Deeded Acres:	40.00								
Waterfront:	-								
Water Front Feet:	0.00								
Water Code & Desc:	W - DRILLED WI	ELL							
Gas Code & Desc:									
Sewer Code & Desc:	S - ON-SITE SANITARY SYSTEM								
Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are no	ot guaranteed to be s	urvey quality. A	Additional lot	information can be	e found at				
https://apps.stlouiscountymn.	gov/webPlatslframe/f	rmPlatStatPop	Up.aspx. If t	here are any quest	tions, please email Property	Fax@stlouiscountymn.gov			
		-		ils (FARM HOU	USE)				
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1918	77:	2	868	U Quality / 0 Ft ²	1S+ - 1+ STORY			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	1	10	16	160	FOUNDA	TION			
BAS	1	12	19	228	FOUNDA	TION			
BAS	1.2	16	24	384	BASEM	ENT			
DK	1	0	0	80	CANTILE	VER			
DK	1	6	12	72	POST ON G	ROUND			
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC			
1.0 BATH	-		-		0	CENTRAL, FUEL OIL			
Improvement 2 Details (12X24 DG)									
Improvement Type	· · · ·		Gross Area Ft ²	Basement Finish	Style Code & Desc.				
GARAGE	1963	28	8	288	-	DETACHED			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	12	24	288	POST ON G	ROUND			
		Improveme	ent 3 Deta	ails (POLE BUI	ILD)				
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	, Basement Finish	Style Code & Desc.			
POLE BUILDING	0	84	0	840	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	28	30	840	FLOATING	SLAB			
LT	1	4	19	76	POST ON G	ROUND			
Improvement 4 Details (8X12 WDSHD)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	96	6	96	-	-			
Segment	Story	Width	Length	Area	Founda	tion			
BAS	v ,		12 96		POST ON GROUND				
Improvement 5 Details (POLE CPT)									
Improvement Type	Year Built	-	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
Improvement Type CAR PORT	Year Built 0	-		Gross Area Ft ² 384	Basement Finish	Style Code & Desc.			
		Main Flo		384	Basement Finish - Founda	Style Code & Desc.			





St. Louis County, Minnesota

Improvement Type	Year Built	Improven Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING 0		7(70	-	-
Segment	Story	Width Length			Foundat	ion
BAS	1	7 10		70	POST ON GF	
Bito	•		-	-		
		-		etails (MH SLPR	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
SLEEPER	0	30	-	306	-	-
Segment	Story	Width	Length		Foundat	
BAS 1 9 34		306	POST ON GROUND			
OPX	1	6	7	42	POST ON GF	ROUND
		Improveme	ent 8 Deta	ails (9X10 GRNH	IS)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	90)	90	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	9	10	90	POST ON GF	ROUND
		Improve	nent 9 De	etails (FAB CPT)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
CAR PORT	0	28	8	288	-	
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	12	24	288	POST ON GROUND	
		Improvo	mant 10 F	Dotaile (6V11 ST	١	
Improvement Type	Year Built	Main Flo		Details (6X11 ST Gross Area Ft ²	/ Basement Finish	Style Code & Des
STORAGE BUILDING		10111 F10		66	Dasement Finish	Style Code & Des
Segment	Story	Width	Length		Foundat	ion
BAS	1	6	11	66	POST ON GROUND	
BAO	1	-				
		-		etails (ST W/LT'	•	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	33	-	336	-	-
Segment	Story	Width	Length		Foundat	-
BAS	1	12	28	336	POST ON GF	
LT	1	7	16	112	POST ON GF	
LT	1	9	17	153	POST ON GF	ROUND
	I	mprovemen	nt 12 Deta	ails (MH STORA	GE)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Des
STORAGE BUILDING	0	20	0	200	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	25	200	POST ON GF	ROUND



St. Louis County, Minnesota



		A	ssessment Histo	ory		
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land E	Def Bldg Net Tax EMV Capacity
	201	\$28,500	\$40,300	\$68,800	\$0	\$0 -
2024 Payable 2025	111	\$25,300	\$0	\$25,300	\$0	\$0 -
	Total	\$53,800	\$40,300	\$94,100	\$0	\$0 666.00
	201	\$25,400	\$41,500	\$66,900	\$0	\$0 -
2023 Payable 2024	111	\$18,800	\$0	\$18,800	\$0	\$0 -
	Total	\$44,200	\$41,500	\$85,700	\$0	\$0 589.00
	201	\$24,200	\$37,600	\$61,800	\$0	\$0 -
2022 Payable 2023	111	\$17,100	\$0	\$17,100	\$0	\$0 -
	Total	\$41,300	\$37,600	\$78,900	\$0	\$0 542.00
	201	\$23,100	\$34,100	\$57,200	\$0	\$0 -
2021 Payable 2022	111	\$15,400	\$0	\$15,400	\$0	\$0 -
	Total	\$38,500	\$34,100	\$72,600	\$0	\$0 497.00
		٦	ax Detail Histor	У	· ·	'
Tax Year	Tau	Special	Total Tax & Special		Taxable Building	
	Tax	Assessments	Assessments	Taxable Land MV	MV	Total Taxable MV
2024	\$323.00	\$85.00	\$408.00	\$34,040	\$24,900	\$58,940
2023	\$287.00	\$85.00	\$372.00	\$31,620	\$22,560	\$54,180
2022	\$313.00	\$85.00	\$398.00	\$29,260	\$20,460	\$49,720

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.